
QUALITY AMISH-MADE FURNITURE

Palmetto Boon™ Table
Assembly Instructions

Complete assembly videos can be found on 
palmettocraft.com

Important Note:
Your furniture has been 
kiln-dried and ready to 
stain, paint or water seal to 
help preserve it and Keep it 
looking nice longer. (You may 
need to tighten all bolts 
and nuts periodically due 
to the natural expanding/
contracting of wood.) Please 
note, exposure of all woods to 
outdoor elements can cause 
fading, warping, cracking, 
shrinking or expansion. The 
manufacturer and distributor 
of this product cannot be 
held responsible for damage 
or changes caused by natural 
weathering.

Best Tools Needed 
For Assembly:

Hardware 
Included:

• Drill  • Socket  • Hammer 

Shown as potting benchShown as serving table

• (10) 2 3/4” bolts
• (10) Washers

• (10) 7/16” Nuts
• (13) Square-head screws

• Square-head drill bit

For support, contact (866) 705-9190, support@palmettocraft.com, or visit palmettocraft.com

1.  Lay table top face-down on level surface.  Attach 4 legs by inserting 
(4) 2 3/4” bolts through pre-drilled holes in table top into pre-drilled 
holes in the top of legs.  Add washers and nuts (see figure 1).  
Hand tighten.

Pro Tip: Make sure lines marked for middle shelf on all four legs are 
facing in before moving to step 2.

4.  Attach triangle shelf supports (2) to front of backboard using 
pre-drilled holes and (4) square-head screws (see figure 4). 

2.  Turn table onto its side.  Attach middle shelf by inserting (4) 2 3/4” 
bolts through pre-drilled holes in middle of legs into pre-drilled holes 
in middle shelf.  Add washers and nuts (see figure 2).  Hand tighten.

5.  Attach small shelf to triangle shelf support using (4) square-head 
screws through the pre-drilled holes in the top of the shelf (see figure 5). 

6. Next insert final squarehead screw into pre-drilled hole found on 
opposite side of backboard attaching backboard to top shelf. 

Pro Tip:  Decide now how you would like to assemble your Palmetto 
Boon Table.

3.  Add (4) Square-head screws in pre-drilled holes securing top of 
table to top of legs 
(see figure 3).

7.  Attach backboard to table by inserting (2) 2 3/4” bolts through 
pre-drilled holes in backboard into pre-drilled holes in table. 
Add washers and nuts. Hand tighten.

	 Potting Bench: 6a. Attach backboard upright (see figure 6a)
	 Serving Table: 6b. Attach backboard upside down (see figure 6b).
8.  Wrench tighten all nuts and bolts.



For support, contact (866) 705-9190, support@palmettocraft.com, or visit palmettocraft.com

Leave us a review on our website or Google, and tag us on your social channels using
#MyPalmettoCraft

Love your Palmetto Craft Furniture?

Figure 1 Figure 2

Figure 5 Figure 6a

Figure 6b Finished Potting Bench Finished Serving Table

Figure 3

Figure 4


